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Minute 1

1. Write the missing number. ............

2. How many apples altogethere ............ apples

(2)
3. Kevin's mum has é biscuits. She gave 2 biscuits to Kevin.

How many biscuits are lefte ... biscuits

For Questions 4 and 5, count the kittens. Write the number.

o, o]
LN, nd
s B
%’: fE’:
8 2
g’ e
ool &
5. & g 0 ...
é. Use greater than (>), less than (<) or equals (=). 613

Use the number line to complete Questions 7 and 8.

810 =

For Questions 9 and 10, circle the name of the shape.

9. triangle circle square
10. ;; triangle circle square
\_ ,
—
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Minvute 2

3. How many teddy bears are lefte

4. Lara has 2 dolls. Rosa has 3 dolls. How many dolls do they have

altogethere ............ dolls

For Questions 5 to 7, circle the number in the ones place.

5717
6. 92
7 27

8. Write the missing number. ............
15 16 18 19 20

Use the number line to complete Questions 9 and 10.

9. 5+4=....
10. 9—-4=_....
\_ J
My score:  — My time: e
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NUMBER [N

1. Fill in the missing numbers on the number lines.

@0 - 3 - 15 16 |5 S

40— ® © —© 0 ® ® ® ® ®
10 11 13 15 16 19

L2 4 6 12 14 18 ___

2 4 6 12 14 18
(C)1St - 3rd 4th 6th o 8th 9th L
0 o —® ® —O0—O0—© ® ®
<-1OSt 3rd 4th 6th 8th 9th ol

10 ® O—® ® ® ® ® ® O g
5 10 20 35 40 50

10 9 6 - 4. G __ A

<@ ® ©® O O; © e
10 8 6 4 . 1

(100 .99. - 9F - 95 94 91 . -

10 39 97 95 94 a1

™ On the back of this sheet, draw your own number line.
—CHGE Write the numbers 40 to 50 on it.
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Minvute 3

NAME: ... Date: ..o

1. Write what comes next in the pattern. 2,4, 6,8, ...

Use the number line to complete Questions 2 and 3.

4. nne=..

5. seven=......

8Lt S o et R o W e
7. Use greater than (>), less than (<) or equals (=). 129

Use the pictograph to complete Questions 8 to 10.

Ice-cream flavour children like best

e
@=1child Chocolate @@@@@@
— L

8. How many children like chocolate ice-creame ........... children

9. Which flavour do children like more—vanilla or strawberry?

10. Circle which flavour children like the most.

strawberry chocolate vanilla

%

[ y

My score: My time:

. S
minute /@
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Monsters Colour by Number Addition and Subtraction up to 20

Solve the calculations in the picture to work out what colours they should be!

12= Pink
15= Green
18= Grey
20= Red
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Minvute 4

Name: ..., Date: ...
1.8-1...i=6
2 4+3=_.L
3. Use greater than (>), less than (<) or equals (=). 3 43
4. Write the missing number. 12,14, ..., 18, 20

5. Twelve children like blue balloons. Eight children like red balloons.

Which colour of balloon do more children like?
.................................. balloons
For Questions 6 and 7, circle the value of the bold number.
6. 15 5 or &0
7. 52 &. or. -0
8.

30 31 32 33 35 36 37 39

Write the missing numbers. ............ and ...........

For Questions 9 and 10, circle the name of the shape.

9. Q square circle triangle

10. [> square circle triangle

.
My score: — My time:
i ‘I 0 minutes seconds
f
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Addition to 20 on a Number Line

Example L | I/-\‘ 1 | I | ) I 1 1 )
"\ ] ] ] ] ] 1] ] ] I | ] ) ] ) ] ]
4t+1=|5 O 1 2 3 & 5 6 7 8 9 10 11 12 13 14 15
———
fr— ] ] ] ] | ] ] (] | [] (] ] ]
_ ] ] ] ] ] ] L} ] ] ] ] ] ] I ] ]
3 ¥ 3= 0O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
——
() 4
8+3-= 0 1 2 4 5 6 7 8 9 10 11 12 13 14 15
N
T e T o e o e o e o e Ay e e e e
) 0o 12 3 4 5 6 7 8 9 10 11 12 13 14 15
() o N I B m m e e L e S B e e |
4 +5= 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
N/
— 1 [] ] | | ] | | ] ] ] ] (] []
_ ] ] | ] ] ] ] ] ] I ] ] ] I ] ]
b+ = 0O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
N i

1 [ | ] (] ] | | | ] | | [

_ ] ] I I I ] ] ] || ] |} ] ] I 1) ||
8+4-D O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
1 (] ] | | ] (] | | | ] ] ]

_ ] I | ] ] ] | ] ] ] ] I ] ] ] ]
9+6-= 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

=

] 1 1 ] 1 [ ] 1 1 1 (| ] ] []
_ Ll ] I ] I I I I ] ) | ] I I ] I
2+10-= 0O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
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Addition to 20 on a Number Line - Sheet 2

For these questions, can you work out which sums are being shown on the
number lines? The first one has been done for you.
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Minute 5

Name: ..., Date:.

1. How many stars alfogether?

W W _
et Dede

For Questions 3 and 4, write the number.

3. eleven=...

6. The clown has 9 balls. He drops 3 balls. How many balls does he

have lefte ......... balls

8. 10c 20c 50c
9. 10c 20c 50c
10. 10c 20c 50c
\. J
My score: My time:
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Addition and Subtraction Facts to 20 - Speed Test

See how long it takes you to complete all of these or give
yourself a set amount of time (say 5 mins) and see how

many you can do.

6+6= 8-6= 9-3= 13 -4 = 4-1=
14 + 5 = 2+ 17 = 71-4= 4 + 9 = 4 -2 =
G =7 = 3+9= 15=1= 20-10 = 10-5 =
2+ 11 = 3+1= 14 -7 = 17 + 2 = 2+3=
2+ 15 = 3-2-= 9+3= 6+ 4= 15 -6 =
7-3= 11+ 5 = 8-5-= 7+8-= 4+ 6=
10 + 10 = 18 -4 = 3+4= 20 - 19 = 4+ 9=
8-2= 10+ 0 = 8 +8 = 14 + 2 = 7-2-=
11+1-= 13-5~= 17 -2 = 9-4-= 19+ 1=
14 -1 = 12 =9 = 3+7= 5+5= 15 =9 &

Correct answers: [

@
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Adding 2-Digit Numbers and Ones Crossing 10

1. 5+6= 2. 8+3=
15+6= 18+3=
45 + 6 = 38+3=
65+ 6 = 78 + 3 =

3. 6+8= 4. 7+5=
16 + 8 = 17+5=
46 + 8 = 67 +5 =
96 + 8 = 87 +5=

5. 5+9= 6. 6+7 =
15+9= 16 +7=
55+9= 46 + 7 =
85 +9= 76+ 7=

7. 9+3= 8. 4+9=
1943 = 1449 =
59+3= 54 +9 =
q9+ 3 = 74 +9 =

Q 7+8= 10. 5+8=
17 + 8 = 15+8=
57 +8 = 65+ 8 =
Q7 + 8 = 85+ 8=
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